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FOREWORD

The National Examinations Council of Tanzania (NECTA) has prepared the
Candidates’ Item Response Analysis (CIRA) report on the Form Four National
Examination (CSEE) for 2021 in the Chinese Language subject. This report
provides feedback to all educational stakeholders and gives analysis on how
candidates responded to the examination questions.

The report contributes towards the understanding of reasons behind the candidates’
performance in Chinese Language subject. It shows the factors that led to good and
weak performance. The good performance was contributed by the candidates’
ability to answer the questions according to the requirements and their competence
in the Chinese Language. Conversely, those who performed weakly did not
understand the requirement of the questions and also lacked knowledge of the
Chinese grammatical rules.

The feedback provided in this report will enable the education administrators,
school managers, teachers, students and education stakeholders to take suitable
measures in order to improve the candidates’ performance in future examinations
administered by the Council.

The council would like to acknowledge all those who participated in preparing and
analyzing the data used in this report.
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Dr. Charles E. Msonde
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1.0

INTRODUCTION

The report analyses the performance of the candidates who sat for the Certificate
of Secondary Education Examination (CSEE) in the Chinese Language subject
in 2021. The questions were set in accordance with the 2015 Chinese Language
syllabus.

The Chinese Language Examination comprised of 13 questions and the
candidates were required to answer all of them. The questions were divided into
five sections: A Comprehension, B Patterns and Vocabulary, C Grammar
patterns, D Language Use and E Composition. Section A had 2 questions;
question 1 and 2 where each carried 10 marks, thereby making a total of 20
marks. Section B comprised 3 questions; questions 3, 4 and 5. Question 3 and 4
carried 5 marks each and question 5 carried 10 marks thus making a total of 20
marks. Section C contained 3 questions; question 6 and 7 which carried 5 marks
each, and question 8 which carried 10 marks, thus making a total of 20 marks.
Section D contained 3 questions; questions 9 and 10 which carried 5 marks each
and question 11 carried 10 marks, making a total of 20 marks. Section E had 2
questions; question 12 and 13, where each question carried 10 marks, thus
making a total of 20 marks.

The analysis presented in this report aims at showing how the candidates
performed in each question by indicating the candidates’ weaknesses and
strengths in answering the questions. It highlights the requirements of each
question by indicating the expected responses, how the candidates answered the
questions and the analysis of the candidates’ responses. Sample extracts of
responses from the candidates’ scripts have been presented to show how the
candidates responded to questions in relation to the requirement of each item.

The candidates’ performance in the Chinese Language was presented in three
groups. The performance from 65 to 100 percent is classified as good, from 30
to 64 percent as average and from O to 29 percent as weak. The candidates’
performance grouping have been represented by different colours where green
denotes a good performance; yellow indicates an average performance while red
shows a weak performance. The candidates’ performance in each topic is
summarized in the Appendices | and II.



A total of 473 candidates sat for the Form Four National Examination in 2021.
The analysis indicates that the general performance was good because 420
(84.40%) candidates passed the examination and 53 (11.21%) candidates failed
the examination. This performance has decreased by 10.00% compared to that of
the 2020 where 119 (94.40%) candidates passed and 7 (5.6) candidates failed.

Table 1: Candidates’ Pass Grades in the 2020 and 2021 CSEE

GRADES
Year | Sat A B C D =
2020 | 126 32 23 47 17 7
2021 | 473 75 50 147 148 53

2.0 ANALYSIS OF THE CANDIDATES’ RESPONSE IN EACH QUESTION

2.1 Section A: Comprehension

The section comprised two questions: question 1 and 2. The candidates
were required to answer all of them. They were asked to read the passage
and answer the questions that followed. Each question weighed 10 marks
thereby making a total of 20 marks. The questions tested the candidates’

ability to comprehend the Chinese Language written information.

2.1.1

Question 1: Multiple Choices Items

The candidates were given a passage from the topic Greeting and
Self-introduction/Family Introduction. They were required to read
the passage and answer the questions by choosing the correct
response and write its letter. The passage was about Mary. The
question tested the candidates’ ability to introduce himself/herself
and talk about activities done. The passage and its questions were as

follows:




g
gikxw (20 49)
gL, \AEFM. ML, ABEASE,

Wojiso M LI, w8 shi Thnsdngniyh rén, wd xidnzhi zhi 73 Béijing, wd shi shing ddxué de
£ HW, AL PREEA, K RAE £ A& X, KA AL KX¥H

shihou M4 dbo Baijing de, wo yho z4i Béijing shing sin nidn xué, hing nidn yihou cii néng biyé. W
MR RE L M ARA T L = F £ B F UST R ERA
méi tiin zAoshang dou ydo qu chioshi mdi kiffi, mé tln winshang . wo dou 24 wd jis  fjin de
# KX FE 6 £ HVE 4, $XA W L Al 4 AF WA
gOngyudn sanbé , gongyuian li you hén dud hud , cdo, shi hé nilo, M ge xinggitiin, wo dou yio gn
N B Ky, A8 ZHIK P, ¥, Bies, B4 THE AN £ R
péngyou qi bihud shingehing, shangchdng I wo jil hén yudn, sud yi wé ydo zud diné qb.  Béijing|
MAE = &% B, B % BAEM &, Ml A8 & ek, &%

hén di, yé hén pidoliang, wo zai B&ijing  de shénghud hén hio, wo xthuan Béijing, xiwing biye
R, R B8, K& X & 2§ R4, S8% &%, F#%F Foik

yihin néng zii Béijing gongzud.
VA fef& d¥ TiE.

Ld ri: MAT shind gud rén?
Pide; BWAS B A?

Dé'n
&%: C

Yingguo Zhonggud Tansingniya Méiguo
A RN B +H C EBARSE D £1

Min jé fajin you shénme?

l. BW ¥ ME H 247
Shiddidn Gongyudn Shangching Yéujo
A BB B H C % D dp 4

MaTi  méitidn dou yio mdi shénme 7
2. OW 5 K W K HA4?

Kafsi NiGndi Nidan Pioggud
A w$ B ¥4 C Wi D ¥x%
MALl z2énme g shangching ?
3. BWEZ2 £+ B %2
Kb che Zbu ha Zoo ding Qi che
A T % B £ % C 4 s D ##%
M4 i dud chang shijiin qb yicl shingchdng ?
4. BWE K MWEE —k B 87
Mai tidn Méi xIngal Mei nidn Mai yué
A § X B& XN C % D &A
MA I hdi ydo dud chdng shijidn cdi néng biyeé ?
5. WL RS K HE F R FL?
Y1 nidn Lidng nidn San nidn S\ midn
A —% B & % C x2S D W
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The question was attempted by 473 (100%) candidates, of whom 370
(78.22%) candidates scored from 8 to 10 marks, which is a good
performance, 98 (20.72%) candidates performed averagely by
scoring from 4 to 6 marks and 05 (1.06%) candidates scored from O
to 2 marks, which is weak performance. The general performance in
this question was good because 468 (98.94%) candidates scored 30%
or above of the 10 marks allocated to this question. Figure 1
summarizes the candidates’ performance in question 1.

Scores

m0.0-20
04.0-6.0
@8.0-10.0

Figure 1: The Percentages of the Candidates’ Performance in
Question 1

The analysis of the candidates’ performance shows that 370 (78.22%)
candidates attained good performance as they scored from 8 to 10
marks. These candidates demonstrated their ability to comprehend
the passage as they wrote the correct answers in all items. This
implies that they had sufficient knowledge about Chinese Language,
hence they understood the passage. For example, in item 1,
candidates were required to answer the question which asked what is
nearby Mary’s home ¥ K22 A 1+ 4 ? They picked the correct
answer B /@ (park) because they grasped the sentence structure
(S+A+ O). They knew that alternatives A 45 /& (bookshop) and D
¥R B (post office) were not correct answers because they were not

mentioned in the passage. Alternative C % 3% (market) also was not



correct answer because it is a place where Mary always goes with
friends to buy things and it is not the place which is nearby her home.

In item 2, the candidates were required to tell What Mary buys every
day? L& RARE £ 24?7 The candidates chose alternative A
#eviE (coffee) which was the correct answer. They understood an
activity of buying coffee done by Mary every day. They also knew
that alternatives B 243 (milk), C #%& (egg) and D % (apple)
are things not bought by Mary and were not mentioned in the
passage.

Moreover, in item 3, the candidates were required to give the means
of transport which Mary uses to go to the market. The candidates
opted for the correct answer which was C 234k (taking subway)
because they knew that alternatives A 7 % (driving), B A& %
(walking) and D %% (riding) were means of transport but were not
used by Mary.

Further analysis shows that in item 4, the candidates were asked to
tell how often Mary goes to the market? The candidates who got
item 4 right mastered well the structure % K & ... —k and
chose the correct answer B 4 2 #7 (Every week). They also noticed
that alternative A # X (Every day) was not the correct answer
because every day morning she goes to the market and every day
evening she goes to the park to take a walk. They also knew that
alternatives C 44 (Every year) and D 4 A (Every month) are
adverbs showing frequency of doing a certain activity but were not
used by Mary.

Finally, in item 5, the candidates who scored full mark opted for the
correct answer B - (two years). They realised that alternatives A
—4F (one year) and D wW-F (four years) were not correct answers
because, they were the years which were not mentioned in the
passage. They also knew that alternative C = (three years) was
not the correct answer because, it was the time where Mary was in
Beijing studying. Extract 1.1 is a sample of the candidate’s good
responses to question 1.



-, 16
2.4 - |
| 3 C |
4B !
5 B |

Extract 1.1: A sample of the candidate’s good responses

In Extract 1.1, the candidate responded correctly to all items by
choosing correct alternatives.

Furthermore, the candidates’ response analysis indicates that 98
(20.72%) candidates had an average performance as they scored
from 4 to 6 marks. These candidates answered some items correctly
and failed others. This proves that they had partial knowledge about
reading for comprehension. Most of them wrote correct answers in
items 1, 2 and 5 but failed in items 3 and 4. For example, in item 3,
the candidates who scored O did not understand the means of
transport used by Mary they randomly picked the alternatives given.
Extract 1.2 is a sample of the candidate’s average responses to
question 1.

=7

>loE o

J
3
4
3

Extract 1.2: A sample of candidate’s average responses

In Extract 1.2, the candidate chose correct answers in items 2 and 5
but failed in items 1, 3 and 4.

Further analysis indicates that 05 (1.06%) candidates had weak

performance as they scored from 0 to 2 marks. These candidates had

insufficient knowledge about reading for comprehension. For
6



example, in item 1, the candidates failed to identify what is nearby
Mary’s home and ended up picking randomly the given alternatives.
Those who chose alternatives A 45 & (bookshop) and D ¥t & (post
office) did not know that they were incorrect answers since they
were not mentioned in the passage. Likewise, alternative C 7 %
(market) was not a correct answer because it denotes a place where
Mary always goes with friends to buy things.

In item 2, the candidates who scored 0 were not able to tell what
Mary buys every day. They failed to identify the correct answer A
%"k (coffee) because they did not understand an activity done by
Mary every day. They also did not notice that alternatives B 447
(milk), C %% (egg) and D 3 % (apple) were not correct answers
because they were not mentioned in the passage.

The analysis further indicates that in item 3, the candidates failed to
identify the correct answer because they did not know that
alternatives A 7+ % (driving), B &% (walking) and D A % (riding)
were means of transport but not used by Mary. They had
insufficient knowledge about the expression V + N for example (7

% —drive a car) structure used in expressing the means of transport.

It is also revealed that, the candidates who scored O in item 4, had
insufficient knowledge about adverbial time given. In the passage
they were given & X ¥ L (every morning) 4 X #. L (every
evening) and &/~ Z# X (every weekend). The question required
them to understand the passage and tell the Marys’ frequency of
going to the market. This proves that they lacked vocabulary hence
chose incorrect responses.

Lastly, in item 5, the candidates who scored O did not master the
conjunction 1L (still) .... 7 (later). They also did not understand the
requirement of the question because most of them chose C (three
years) without knowing that it was the duration of time for Mary’s
stay in Beijing. They did not know that alternatives A —<F (one
year) was the first duration of Mary’s stay which was not directly
mentioned in the passage but it required the candidates’ ability to

7



2.1.2

interpret the information from the passage. Further analysis shows
that alternative D ¥ (four years) was not the correct answers
because, it was the years which was not mentioned in the passage.
Extract 1.3 is a sample of the candidate’s weak response to question
1.

C
%
A

.G
A

- -JH_E g L

Extract 1.3: A sample of the candidate’s incorrect responses to question 1
Extract 1.3, the candidate wrote incorrect answers in all items.

Question 2: Reading the Passage and Answering Questions
Using Chinese Characters

In this question, the candidates were given a passage to read and
were asked to answer the questions by using Chinese characters.
This passage was derived from the topic of Introduction and
Recommendation. The passage was about Wang Li (£ 77) plan. This
question tested the candidates’ ability to introduce oneself and
friends. The passage and its questions were as follows.



_\\

A#EL, ARFHEPFMA.

Ninhdo! Wd jizo Xizoming. W0 ybu g& péngyou jiso Wéngi, jinnidn shiwit sui, g&a wo yiyang gdo,
B A& DA K A B AN IW45TEY R A—H 3,
Ta shi Méigudsén, y& shi women xuéxido xuésheng. Ta hui shudsin zhong yitvan. Yingyd,
RRXEA LEREANMFRF 4 B L Z & #3555,
Hanyii hé fayli. Suirdn @ zai Meiguo chishéng, késhi hinyii hio dé budélido. Ta dasuan jiagy 1di
Risfoikis. BRBEEL B & %, TANESHELET. #iTimsz
Shinghii Finguinjianzhi, 13 yigian zii fangudn zudgud jianzhi. Tashud, 13 feichéng xihuan
b & BE &R, mold AR B s £, #E, BT Ex%
Fiwl yudn zbe ge zhiye, yinwéi ké yi rénshi héndud xin péngyou. WingLi de jiali
BER EANARE BA TR KRR 2 & MA L @ %3

Fanguin hénjin, qof zi xingché wi fenzhong jid diole. T3 kéyi Lii shishi ma? Yaoshi kéyl.
REREBEH £ 2 4 & 3 87, £TURIE 9?7 22T,

Jib ging g2i 13 baba d& didnhua, zhé shi td de mingpian. W& ti wingli

it 2REEHELE, ZRAEHLE, AFLE

Xiéxi¢ nin!

HHE!

Li ni: Wen: Xifoming de péngyou jiac shénme?
Hide: A: 9 8 RE » 47
Dd
& EN:] °

Wing Lide gudii shi shéame ?
1. T S EER 47

Chii le hanyii, Wang Li bi hui shud nixié yiryén?
2. BRTGE, T @S i AL ES?

Wing Li de jizli Shanghii fanguin yusn bu yuin?
3. X1 mHEE L E R E RE?

Wing Li hé XiZioming shui gio?
4 F WA 8] #F?

Wei shénme Wing Li xihuan zud fiwiyusn?
5. 3 H2 I WmARHEEBRER?




The candidates’ responses analysis indicates that the question was
attempted by 473 (100%) candidates, of whom 97 (20.51%)
candidates scored from 8 to 10 marks, which is a good performance,
146 (30.87%) candidates performed averagely by scoring from 4 to
6 marks and 230 (48.63%) candidates scored from 0 to 2 marks,
which is a weak performance. The general performance in this
question was average, as 243 (51.37%) candidates scored 30% or
above of the 10 marks allocated to this question. Figure 2
summarizes the candidate’s performance in question 2.

100 -
90 A
80 +
70 -
60 -
50
40 +
30 4
20
10

48.63

30.87

20.51

40-6.0 8.0-10.0
Scores

Percentage of Candidates

Figure 2: The Percentages of the Candidates’ Performance in
Question 2

The candidates’ response analysis indicates that, 146 (30.87%)
candidates had an average performance. This indicates that the
candidates partially comprehended the passage and managed to
answer some items correctly while failed in others. Most of
candidates failed in items 1 and 3. For example, in item 1, the
candidates were required to tell where Wang Li is coming from.
Some of the candidates failed in this item because they did not
master well the meaning of the words 1+ 4 E # (which nation) on
which they were required to tell Wang Li’s nation, but some
candidates confused with the structure RE A (which nationality)

in which required the candidate to tell one’s nationality, as in £ &

10



(America) which was the correct answer, but most of them wrote %
A (American) which was incorrect.

Additionally, in item 3, the candidates were supposed to tell how far
is from Wang Li’s home to Shanghai Restaurant. To respond
correctly to this item, the candidate had to master the expression iz
A1z (far or not far). However, some candidates failed because in
the passage it was written £ 8 K % 418 R 2L (From Wang Li’s
home to Shanghai Restaurant is near). So they were supposed to
understand the word # (near) which is synonymous to A~iZ (nor
far). Extract 2.1 is sample of the candidate’s responses from the
candidate with average performance in question 2.

o). 1% §) Ei & £ 8 A
.D'Lz IR ETCE 35
§11L i tli '
ml\ 88 ]?E ‘*fj : |
vIBE ® 30 Touw BA TRu84e% 35 BE & |

Extract 2.1: A sample of the candidate’s average responses

Extract 2.1, the candidate wrote correct answers in items 3, 4 and 5
but failed in items 1 and 2.

The analysis also shows that 230 (48.63%) candidates had weak
performance because they scored from O to 2 marks. These
candidates failed to answer the question correctly due to either lack
of understanding the passage’s content or the requirement of the
question. Some of them copied the sentences from the passage and
treated them as answers. Others wrote wrong structured sentences
where as others answered using pinyin. For example, in item 2, the
candidates were required to tell what other languages Wang Li can
speak apart from Chinese? The candidates were required to
understand the  structure of &R T eeeee B e
(Except........ still/also........ ). But some candidates did not
understand well this concept. They wrote unrelated responses to the
question as one of them wrote K # & 4% (from the restaurant)

instead of the correct answer 3% #= %1% (English and French).

11



Furthermore, in item 4, the candidates were required to tell who was
taller than the other between Wang Li and Xiao Ming. Some of the
candidates failed to score full marks because they had insufficient
knowledge about grammatical pattern of bt 5 ) (comparative
sentence using tt) A tt B +Adjective. For example, one of them
copied words #8 4 ¥ALX (want to take a plane to go to China)
from the question paper and wrote it as an answer.

Lastly, in item 5, the candidates were required to state the reason
why Wang Li likes to be a waitress. The candidates were supposed
to understand the passage and relate it with the question 4 4
(why), and give the expected reason. Some candidates copied
sentences from the passage as one of them wrote #&3E % &3k IR %
5 instead of giving reason. This implies that the candidates had
insufficient vocabulary. Extract 2.2 is a sample of weak candidate’s
responses in question 2.

= AF+F Y . T
2 T AR LB 12, 4“? S| BN
2y A ¥

.........................................

Extract 2.2: A sample of the candidate’s Weak responses

Extract 2.2 demonstrates the weak responses from the candidate who
wrote incorrect answers in all items.

Further analysis of the candidates’ performance reveals that 97
(20.51%) candidates had good performance. These candidates
comprehended the passage and answered the questions correctly.
They had sufficient knowledge about Chinese characters and also
they mastered the grammar patterns. This enabled them to write
correct answers. For example, in item 1, the candidates were

required to tell where Wang Li is coming from? E &1 &9 B & &+

12



4?7 The candidates who scores full mark knew that the word 4
E # (which nation) is different from the word B A (which
nationality). This resulted to the writing of the correct answer which
is £ B (America).

Further analysis shows that in item 2, the candidates were required
to tell what other language Wang Li can speak apart from Chinese?
The candidates who scored full mark mastered the structure &
T oeeeee oeeees (Except........ still/also........ ). They also understood
the question, this enabled them to write the correct answer 3% 1% 4= %
1% (English and French).

Moreover, in item 3, the question required the candidates to tell how
far is it from Wang Li’s home to Shanghai Restaurant. The
candidates who got this item right had sufficient vocabulary. They
knew that the words iZ /% (far/near) they are negated as 7~ i& /7~ 1
(not far/not near). They also noted that in the passage it was written
f&L (very near) and that in the question they were asked iZ 7~ iZ
(far or not far), hence they wrote the correct answer A~ (not far)
meaning it is 21 (near).

Furthermore, the candidates were required to tell who is taller than
the other between Wang Li and Xiao Ming in item 4. The candidates
who scored full marks mastered the comparative sentences (b5 47,
A it B + Adjective). This helped them to write the correct answer
—# % (the same taller).

Lastly, in item 5, the candidates were required to state the reason
why Wang Li likes to be a waitress 4+ 2 £ &3k IR % R ? The
candidates who scored full mark comprehended the passage, hence
identified the correct information and answered the question
correctly as one of them wrote & % 4T vAIK 174 % B A (because
he may come across with more friends). Extract 2.3 is a sample of
the candidate’s good responses to question 2.

13



(b Im 4 OE X ¥ B
TIBS BT EENENEEL Y

L — . |
;;ng L8 TRTY ¥F % - (

BTHEYE XY
_

SLIGE & RN PLPENL L i

Extract 2.3: A sample of the candidate’s good responses

In Extract 2.3, the candidate wrote correct answers in
all the items.

2.2 Section B: Patterns and Vocabulary

In this section, the candidates were given three questions, namely questions
3, 4 and 5. Questions 3 and 4 carried 5 marks each and question 5 carried 10
marks, therefore making a total of 20 marks. The candidates were required
to answer all the questions.

2.2.1 Question 3: Filling in the Brackets with Chinese Pinyin from the
Provided Characters

This question had 5 items in which the candidates were required to
write the missing pinyin of the given characters. The question was
derived from the topic of City and Environment. It tested the
candidates’ ability to recognize and write Chinese characters and
their pinyin appropriately. The questions were as follows.

14



= . EH I F AT EPFF o
i G ni ( hao )
1] fex = 445 AT

C > 1anm
1. 2 W
C > o
=2 =ZE X
C ) bian
< T A 34z
C D) muo
4. F A<
C ) jua
s. 20 A5

The total of 473 (100%) candidates attempted the question, out of
whom 51 (10.78%) candidates scored from 4 to 5 marks, which is a
good performance, 234 (49.47%) candidates performed averagely by
scoring from 2 to 3 marks and 188 (39.75%) candidates scored from
0 to 1 marks, which is a weak performance. The general
performance in this question was good, since 285 (60.25%)
candidates scored 30% or above of the 5 marks allocated to this
question. Figure 3 summarizes the candidates’ performance in
question 3.

100 -
90 -
80
70 -
60 -
50 1
40 -
30
20 +
10
0

49.47

39.75

10.78

Percentage of Candidates

0.0-1.0 20-3.0 40-50

Scores

15



Figure 3: The Percentages of the candidate’s Performance in
Question 3

The data analysis shows that 51 (10.78%) candidates had good
performance. These candidates mastered well the procedures of
writing pinyin and had sufficient knowledge about initials, finals and
syllables. They also mastered the tone-marking-rule. In addition,
they recognized the Chinese characters, strokes and pinyin thus
ended up writing the correct answers. Extract 3.1 is a sample of the
candidates’ good responses to question 3.

= flhﬁn ,,,,, e s L e R i
[2 Tida _ I |
_ 41‘3Eﬂ J
e 1__q
- (T Y e e e e W QU S S| [—
— e —————————
T —

Extract 3.1: A sample of the candidate’s good responses

In Extract 3.1, the candidate wrote correct pinyin in
all the items.

Moreover, candidates’ response analysis shows that 234 (49.47%)
candidates had average performance. These candidates wrote
correctly some pinyin and failed in others. They managed to write
initials and finals but failed to mark the correct tone. Others could
not recognize the character as a result they guessed and wrote
incorrect pinyin. This indicates that the candidates had partial
knowledge about pinyin writing. Extract 3.2 is a sample of responses
from a candidate with average performance in question 3.

Fou

Extract 3.2: A sample of the candidate’s average responses

16



2.2.2

Extract 3.2, indicates responses from the candidate who managed to
write correct pinyin in items 2, 3 and 5 but failed in items 1 and 4.

Furthermore, the analysis shows that 188 (39.75%) candidates had
weak performance. These candidates had insufficient knowledge
about writing pinyin. They also failed to recognize the characters
given. This resulted to the writing of incorrect answers. For
example, one candidate wrote 1 zhan, 2 jiao, 3 béi, 4 shd and 5 you.
This candidate managed to write finals and initials but failed to mark
tones. This proves that the candidate did not master the tone-
marking rule. Another candidate wrote 1 zhé, 2 jian, 3 ba, 4 shui and
5 lan. This indicates that the candidate did not know the characters
and their pinyin. Extract 3.3 is a sample of the candidate’s weak
responses to question 3.

3 oui [

g chong

g pf

b

]

I

 shal

1

Extract 3.3: A sample of the candidate’s incorrect responses

In Extract 3.3, the candidate wrote incorrect pinyin for all the
characters given.

Question 4: Filling in the Brackets with Chinese Character from
the Provided Pinyin

The candidates were given 5 items with the missing characters. They
were required to write the character in the brackets. The questions
were composed from the topic of Travel and Customs. The question
examined the candidates’ ability to write Chinese character. The
question was as follows.
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3. 47 C )
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4. 3 C D

hai tan
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The question was attempted by 473 (100%) candidates, of whom 64
(13.53%) candidates scored from 4 to 5 marks, which is a good
performance, 349 (73.78%) candidates performed averagely by
scoring from 2 to 3 marks and 160 (12.68%) candidates scored from
0 to 1 mark, which is a weak performance. The general performance
in this question was good, as 413 (87.32%) candidates scored 30%
or above the 5 marks allocated to this question. Figure 4 summarizes
the candidates’ performance in question 4.

100 4
90
80 - 73.78
70
60
50 A
40
30 -
20 4 12.68 13.53

00-10 20-3.0 40-50
Scores

Percentage of Candidates

Figure 4: The Percentages of the Candidates’ Performance in
Question 4
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The data analysis shows that, 64 (13.53%) candidates had good
performance as they scored from 4 to 5 marks. These candidates
recognized the characters of the given pinyin and wrote them
correctly. They had sufficient knowledge about writing the Chinese
strokes and radicals. This helped them to give correct answers as in
item 1, where most of the candidates wrote the correct character =
(to go back) because they managed to differentiate it from character
4 (can). The two characters have the same initials and finals but

they differ in tones (& hui and & hui).

In item 2, the candidates who got right this wrote the correct
character /)~ because they knew that when this character is joined
together with B+ forms a word /J~B¢ (hour). They also wrote correct
character 72 (luggage) in item 3 because they knew that the
character 47 is joined with 2= (palm tree) to form a word 7%
(luggage).

Furthermore, in item 4, the candidates were required to write
character 5+ (year) as the correct answer. Most of them wrote it
correctly because they were familiar with it. Lastly, in item 5, the
candidates were required to write a character i (ocean) to complete the
word ¥ (beach). The candidates who scored full mark wrote the
correct character i (ocean) because they mastered the radical 7
which represents water. They also managed to differentiate it from
(every). This proves that the candidates had sufficient knowledge
about writing characters. Extract 4.1 is a sample of the candidate’s
good responses to question 4.
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Extract 4.1: A sample of the candidate’s good responses

In Extract 4.1, the candidate correctly wrote the characters in all
items.

Further analysis indicates that 349 (73.78%) candidates had an
average performance as they scored from 2 to 3 marks. This
indicates that the candidates correctly wrote some characters and
failed in others, while some of them wrote wrong characters by
reducing or adding some strokes or radicals. Most of the candidates
failed in items 1 and 3. For example, in item 1 most of the
candidates failed to distinguish between the character = (to go back
from) and 4 (can) because they have the same initials and finals.
These candidates failed to differentiate the tones.

Moreover, in item 3, the candidates were required to write the
character 2=, but some of the candidates failed to write it because
they failed to differentiate it from other characters 77 (strength), 2
(in) and ®8 (pretty) which have the same pronunciation. Others
wrote Z (season) instead of the correct character 2= (palm tree)
because they added one upper stroke. This indicates that the
candidates had insufficient knowledge about characters which have
the same pronunciation or having some slight resemblance in form.
Extract 4.2 is a sample of the responses from the candidate who
performed averagely in question 4.
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Extract 4.2: A sample of the candidate’s average responses

In Extract 4.2, the candidate was able to write correct characters in
items 2 and 4 but failed in items 1, 3 and 5.

Further data analysis reveals that 160 (12.68%) candidates had weak
performance, as they scored from 0 to 1 mark. These candidates had
insufficient knowledge on writing characters. They did not master
the stroke order and radicals, thus ended up writing incorrect
characters by adding or reducing strokes or forgetting some radicals.
For example, in item 2, the candidates were required to write
character /)~ to complete a word ‘JBf (hour). Most of the candidates
wrote /> (few). This shows that they could not distinguish J» from
» (few). This confused them because the two characters differ in
initials (Xiazo and shao).

Similarly, in item 4, the candidates who got this item wrong did not
master this character, as one of them wrote & (south), others wrote
% (male), few of them wrote 4 (cow) and others wrote 4
(midday). Finally, in item 5, most of the candidate who scored 0
failed to write the first part of the character (radical) and they did not
realize that character # has two parts: 7 and 4. This reveals that
the candidates had partial knowledge about recognizing and writing
two sided characters. Extract 4.3 is a sample of the candidate’s
weak responses to question 4.
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Extract 4.3: A sample of the candidate’s weak responses

In Extract 4.2, the candidate wrote wrong characters in all items.

2.2.3 Question 5: Choosing the Correct Character from the Given
Two Similar Characters

In this question, the candidates were given five (5) sentences with
two (2) characters. They were asked to choose one character
between two similar characters to complete the meaning of the
sentences. The characters had slight similarities in either phonology
or morphology. The question was from the topic of Introducing
Oneself & Friends and City & Environment. The question tested the
candidates’ ability to differentiate the characters which are slightly
alike either in form or pronunciation. The question was as follows:

b 2 BEOF

A. e,
Lini: Wo jia ydu jia kdéu rén
Plao: & A_A a9 A, (/#)

Tansangmiyé ydu lilinggé ji

ELE T I A o (¥/4m)

Xigohdng mbititn  xib douw yio di 1aijiquin.

A EATREE. (4D
Xikxut do shohow, Xikohdi zhi shogulin  kin sha.

T SSMR, LB E P A B, (AR

riing yTwuniin yi yue b3rl. wode méimei &l yyuan  chi

S 2015 F 1A BH, &Keh MM EEBR . (Hh)

Xinogisin  wanshang., g&ge ydo kin yigée bim xido ziw bisdi,

S EME L FFR A —AE _RAE, (s

+)
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A total of 473 (100%) candidates attempted the question, of whom
240 (50.74%) candidates scored from 8 to 10 marks which is a
good performance, 183 (38.69%) candidates scored from 4 to 6
which is an average performance and 50 (10.57%) candidates
scored from 0 to 2 which is a weak performance. The candidate’s
general performance in this question was good, since 423 (89.43%)
candidates scored 30% or above of the 10 marks allocated to this
question. Figure 5 summarizes the candidates’ performance in
question 5.

100 -
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60 4 50.74
50
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0

00-20 4.0-6.0 8.0-100
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38.69

Percentage of Candidates

Figure 5: The Percentage of the candidate’s performance in
guestion 5

The data analysis shows that 240 (50.74%) candidates performed
well as they scored from 8 to 10 marks. These candidates had
sufficient knowledge about Chinese characters with different forms
and pronunciation. They differentiated between the two given
characters and wrote the correct answers. They also knew their
position and uses in the sentence. For example, in item 1, the
candidates knew the difference between 7 (season) and #& (sister)
thus they supplied the correct answer 7 because they understood
the meaning of the sentence which was about season and not about
(sister).

Further analysis indicates that the candidates who got item 2 right,
knew the meaning of the characters % (noon) and 4 (cow). They
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also understood that the question required them to tell time. They
identified the correct character % because it relates with time.

Moreover, in item 3, the candidate chose the correct character
because they were familiar with the word & 454% (library) and the
missing character was & (picture). Thus they knew that the

character (country) was not correct because it relates to the
country.

Furthermore, in item 4, these candidates also wrote the correct
character £ (born), because they knew that in the sentence there
was a character & which collocates with character 4, to get a word
& 4 (to be born). They also knew that the character st (earlier) was

not the correct answer because it had no relation with the verb to be
born.

In item 5, the candidate wrote the correct answer because they knew
that the two characters had the same pronunciation and the same
tone but differ in meaning & (time) and + (ten). They also
understood that the sentence was about telling time. Therefore, the
correct word was B which makes a word +J B (hour). Extract 5.1 is
a sample of the candidate’s good response to question 5.

1/ R T S N
| e ¥

[ 3 A l
— % |
| & B |
_ |

Extract 5.1: A sample of the candidate’s good response

In Extract 5.1, the candidate wrote correct answers in all items.
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Further analysis indicates that 183 (38.69%) candidates had an
average performance as they scored from 4 to 6 marks. These
candidates had partial understanding of Chinese language characters
as they were able to correctly choose some characters while failing
in others. They had partial knowledge about some radicals which
forms different characters. This resulted to choosing incorrect
characters. Extract 5.2 is a sample from candidate with average
performance in question 5.

‘i 4. F |
59_@ |

3

145

5. 8t
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|
1

Extract 5.2: A sample of the candidate’s average performance

In Extract 5.2, the candidate wrote correct characters in items 1, 4
and 5 but failed in items 2 and 3.

The analysis also shows that 50 (10.57%) candidates had weak
performance as they scored from 0 to 2 marks. Under this category,
the candidates had inadequate understanding about Chinese
characters. They also had insufficient knowledge about Chinese
radicals which forms different characters which hindered them from
distinguishing the two given characters. In addition, they did not
understand the meaning of the sentences given. This shows that they
lacked vocabulary which resulted to randomly picking of the
characters. Extract 5.3 is a sample of the candidate’s weak response
to question 5.
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Extract 5.3: A sample of the candidate’s weak response

In Extract 5.3, the candidate wrote incorrect characters in all items.

2.3 Section C: Grammar Patterns
This section comprised three questions, namely 6, 7 and 8. Question 6 and
7 carried 5 marks each and question 8 carried 10 marks. The section had a
total of 20 marks.

2.3.1 Question 6: Multiple Choices Items

The question had five multiple choice items having the blank spaces.
The candidates were required to fill them by choosing the correct
answer and writing its letter. The question was from the topics of
School Life, Shopping, Travel and Customs. The question had a total
of 5 marks. It examined the candidates’ ability to use Chinese
grammar to express themselves. The question was as follows:
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I3 ni NI shénme mingzi ¥
H4e: 4k (B) 2 £%2
shi jido g hul
A X B c # D &
Waoemen méi tian zioshang 7:30 xuéxido i shangks,
I &0 # X ¥ £ 730 () #:tt—t.-_ti!.
i ba gén dio
A X B i c R D |
231 shidein mai dao zhdngwén shit ma?
2. & BB E( )HP X H B2
le ne aé de
AT B2E C # D &
o nisin himyd kioshi bir mén.
3. A EHER () R,
shénme zénme dudshdo nige
A 2 B &« c ¥ D A
T4 jin dOngxi thi ded ke,  th bd mai le,  jid khinkan.
4. EADH KST, X () T, wEF.
ndr zényang shénme dudshio
A WL B x5 C f+4 D E 4

Ta zhéngzdi zhimbéi Iixing de ddngxi, yi huir jit dio @ijiching.
5. EL RS RITHED, —2H e (),
qi yao shang xia
A £ B £ c E D F

The candidates’ response analysis indicates that the question was
attempted by 473 (100%) candidates, of whom 56 (11.84%)
candidates scored from 4 to 5 marks, which is a good performance,
212 (44.82%) candidates performed averagely by scoring from 2 to
3 marks and 205 (43.34%) candidates scored from 0 to 1 marks,
which is a weak performance. The general performance in this
question was average, as 268 (56.66%) candidates scored 30% or
above of the 5 marks allocated to this question. Figure 6 summarizes
the candidates’ performance in question 6.
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Figure 6: The Percentages of the Candidates’ Performance in
Question 6

The analysis of the candidates’ response shows that 212 (44.82%)
candidates had average performance as they scored from 2 to 3
marks. In this category, the candidates had partial understanding of
Chinese language sentence structure and grammar. They managed to
choose the correct answers in some items while failing in others.
They also had partial understanding of the meaning of the words and
sentences given. This led them to guess and randomly pick the
alternatives. Extract 6.1 is sample of responses from the candidate
with average performance in question 6.

2 D S

4, C

B

s. A ]

Extract 6.1: A sample of the candidate’s average responses

In Extract 6.1, the candidate was able to write correct answers in
items 4 and 5, but wrote incorrect answers in items 1, 2 and 3.
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Further analysis shows that 205 (43.34%) candidates had weak
performance as they scored from 0 to 1 mark. The candidates had
inadequate knowledge about Chinese language grammar. They did
not master the sentence structure especially the meaning, position
and uses of the words given. This proved that the candidates lacked
vocabulary which hindered them from understanding the questions.
This led them to randomly choose the alternatives. Extract 6.2 is a
sample of the candidate’s weak responses to question 6.

R ‘
|

1
T |

A
¢ il
] [
)

-

Extract 6.2: A sample of the candidate’s weak responses
In Extract 6.2, the candidate chose incorrect answers in all items.

Further data analysis illustrates that 56 (11.84%) candidates had
good performance as they scored from 4 to 5 marks. For example, in
item 1, the candidates mastered the structure pattern %] + place +
4, this resulted to the choosing of the correct answer D £|. They
knew that alternative A # (be at a distance from) is preceded by the
distance (far/not far/near). They also knew that alternatives B 4 and
C 3% were not correct answers because they are used after a subject
and not time as in the question.

Moreover, in item 2, the question required the candidates to fill the
bracket with 75 (a complement of success or possibility). These
candidates wrote the correct answer 7% because they mastered the
structure V +45+%| + noun. In addition, they knew that alternative A
T (particle) shows the change of state or completion of certain
action, alternative B " is an interrogative particle used at the end of
the question and alternative D &y was not the correct answer because
it is a possessive particle.
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Furthermore, in item 3, the candidates who got it right had sufficient
knowledge about the expression 7~+& 24 +Adj. They managed to
choose the correct answer B & Z (not at all). They also knew that
alternatives A f+ 4 (what), C % ¥ (how much) and D %4> (which)
are interrogative words and cannot be positioned in that place.

Further analysis shows that, in item 4, the candidates who got the
item right had sufficient knowledge about the structure V + 1+ 4 +
T ... #L.... to mean that nothing is taking place (action) other
than.... They choose the correct answer C f+ Z (nothing). They
further noted that alternative A fJL (where) B & 4% (how about it)
and D %'/ (how much) were not correct answers because they are
interrogatives that cannot be used in the sentence given.

Lastly, in item 5, the candidates who scored full mark mastered the
structure #] + Place + -, thus ended up choosing the correct answer
A & (go). They noticed that option B % (want) was not the correct
answer because it is used as an auxiliary verb, C £ (up) and D T
(down) were incorrect answers because they go with direction,
which was not found in a given sentence. Extract 6.3 is a sample of
the candidate’s good responses to question 6.

AL b | |
A R S
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Extract 6.3: A sample of the candidate’s good responses

In Extract 6.3, the candidate filled in all the blanks by choosing the
correct answers.
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2.3.2 Question 7: Choosing the Correct VVocabulary from the Given

Two Similar Patterns

In this question, the candidates were given five items with blank
spaces. They were required to fill in the blanks by choosing the
correct answer from the two given characters. The question was
from the topics of Colour, Sport & Game and Nature. It examined
the candidates’ ability to use Chinese vocabulary to complete
sentences. The question was as follows.

t. ERGEHATHDTF. MAFAS.,

Liri: W& lioshi,
{ﬁj*ﬂi & i %Wo (i/“f)
Tansangniya de guogf ydu si yins,

| BRETHERED He. (HK)

Mingming méitilin zioshang ché bé dud lid didn ji qu di langi, yinwéi 13 pangle.
AW R FLE EXRE AL HENER BH 7.

(3/K)

o

Xidohdit ydu yi zhi chongwigdu, mingzi jido Xidobdi, 6 de yi fu shi bais?
3N BA-R BBH, £FH A CHRBRAGE_ .

(T/8%)

MaLih you dud tidgo qinz, sudyl tabi zhinbéi mii xin dele.

4 HEBA___ 5 R8T MURT A% F #H6T. (Re)

Women bin xuésheng dou xihuan xué hinyi, timen dou xué fEichdng hio,

S 4M £ F4 BEK FRERNE F BT 8. ()

The question was attempted by 473 (100%) candidates, of whom
225 (47.57%) candidates scored from 4 to 5 marks, which is a good
performance, 205 (43.34%) candidates performed averagely by
scoring from 2 to 3 marks and 43 (9.09%) candidates scored from 0
to 1 mark, which is a weak performance. The general performance
in this question was good, as 430 (90.91%) candidates scored 30%
or above of the 5 marks allocated to this question. Figure 7
summarizes the candidates’ performance in question 7.
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Figure 7: The Percentages of the Candidates’ Performance in
Question 7

The data analysis of the candidates’ responses shows that 225
(47.57%) candidates had good performance as they scored from 4 to
5 marks. The candidates in this category had sufficient vocabulary.
They understood the meaning of the words and sentences given.
They were conversant with the uses of those words in the sentence.
This knowledge helped them to identify the correct answers. For
example, in item 1, the candidate wrote the correct answer #¥ (kind
or type of). They realized the character 7k (Sur name or measure
word of papers or any product of papers) had no relation with the
word 27 &, (colour).

In item 2, the candidates who scored full mark mastered the
structure X..... 7 as they managed to write the correct answer &
(very). They knew that the word % (many) was not the correct
answer because it cannot be preceded by the Adj. fif: (fat).

They also got right item 3 because they understood the sentence
structure & ...... &9 and wrote the correct answer &y . These
candidates noticed that the particle 7 was not the correct answer
because it shows the completion of an action or the perfection of an
action or the change of state.
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Moreover, in item 4, the candidates were required to fill in the blank
with the adverb of degree f& (very) which is preceded by an
adjective. They identified the correct answer and knew that the
conjunction . (also) was not the correct answer because it is used
to join information and never placed after the verb % (to have).
Likewise, in item 5, the candidates were required to fill in the blank
with the grammatical particle which shows complement of results.
They identified the correct answer 75 to express the results of
studying *F (well). They also realized that the character &9
(possessive particle) marks possession. Extract 7.1 is a sample of the
candidate’s good responses to question 7.

i |

2 X

369
I 4
w18
1
543

Extract 7.1: A sample of the candidate’s good responses

In Extract 7.1, the candidate wrote the correct answers in all items.

Further analysis indicates that 37 (29.8%) candidates scored from 2
to 3 marks showing an average performance. These candidates had
partial knowledge of the Chinese grammar. They wrote correct
characters in some items and failed in others. They also failed to
distinguish the two characters as a result they failed to use them in
the sentences. This analysis implies that the candidates were not
familiar with some Chinese patterns. Extract 7.2 is a sample from
responses of a candidate who performed averagely in question 7.
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Extract 7.2: A sample of the candidate with average performance

In Extract 7.2, the candidate managed to write correct answers in
items 1, 3 and 4 but failed in items 2 and 5.

Even though the performance was good, there were 43 (9.09%)
candidates who had weak performance, as they scored from 0 to 2
marks. These candidates had inadequate understanding of the
question, insufficient knowledge in Chinese language sentence
structures and grammar as well as the meaning of words. For
instance, some candidates randomly picked the options as answers.
This is evidenced in item 1 where the candidate failed to
differentiate the two words #¥ (kind or type of....) and 7k (Sur
name or measure word of papers or any product of papers). Also, in
item 5, the candidates choose an incorrect response #J because they
had insufficient knowledge of the two particles. Thus, they ended up
choosing incorrect characters. Extract 7.3 is a sample of responses
provided by one of the candidates who performed weakly in
question 7.
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Extract 7.3: A sample of the candidate’s weak responses

Extract 7.3, shows the performance of the candidate who wrote
correct answer in item 4 but failed in others.

2.3.3 Question 8: Re-arranging the Jumbled Words into Correct
Sentences

In this question, the candidates were given five items with jumbled
words/phrases. They were required to rearrange them to form logical
Chinese sentences. The question was from the topic of Time and
Jobs. It examined the candidates’ ability to form Chinese logical
sentences. The question was as follows.

AL AEEE AN &) o

L3l vac shi ZhOongogud W rén
9 4= (D & (2D 9N G 3 A
: HEDIE BIEDICS NE—
fAng jian X180 Mmso I yi zhy yOu
1. GO AmM @ @ W @ —R S N
zh B gOngsud wo de Shanghai

2. (DB (D EE (B T4 @ %6y (5 L

BayTng Xiraoha baqgn a0
3. QDA @ M G I @

#zho katran P mama chutang

4. QD #M () ook (B) £ (A 4549 (5D M 4

xang ba zud s¥ 4T Xiaohai
5. (O M (@ A D # @ S G -1~ B
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The question was attempted by 473 (100%) candidates, of whom
192 (40.59 %) candidates scored from 8 to 10 marks, which is a
good performance, 135 (28.54%) candidates performed averagely by
scoring from 4 to 6 marks and 146 (30.87%) candidates scored from
0 to 2 marks, which is a weak performance. The general
performance in this question was good, since 327 (69.13%)
candidates scored 30% or above of the 10 marks allocated to this
question. Figure 8 summarizes the candidates’ performance in
question 8.
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Figure 8: The Percentages of the Candidates’ Performance in
Question 8

The data analysis indicates that 192 (40.59 %) candidates had good
performance as they scored from 8 to 10 marks. The candidates were
required to rearrange the jumbled word into correct sentences. These
candidates had sufficient knowledge of Chinese sentence structure.
They also knew the meaning and uses of the jumbled words in the
sentence. For instance, in item 1, the candidates rearranged the
sentence correctly as (D)B)(5)@)(2) &2 H — A% (There is a
cat in the room) because they mastered the structure S+V+O. In
addition, they knew that the noun % & had to be preceded by the
preposition ¥, and followed by the verb % . They also realized
that the measure word — 2 had to begin and be followed by a noun
5.
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In item 2, the candidates who wrote the correct sentence were
familiar with the structure S+7£+Place+ O as they wrote the correct
answer 2GR &4y &EE £ Lk T (My father works in
Shanghai). They knew the uses of the jumbled words and realized
that #& &9 (my) was the first word because it is an attributive
adjective followed by the noun # % . They also noticed that the
preposition /& had to be followed by the noun of place L and that
the last word was the verb T 4. This shows that the candidates
mastered the structure of the sentence S+ + Place +V.

Further analysis shows that, in item 3, the candidate were required to
make the use of the sentence structure S + V+71<+V? The candidates
used this knowledge and wrote the correct answer 2)(@)(3)(1) ) i
I F4b % ? (Xiaohai does not go to Beijing?).

Furthermore, in item 4, the candidates were required to rearrange the
sentence by using the structure S + # + Place + V + Object. These

candidates wrote the correct answer (1)R)G)()(2) 45 1 5 5 A
#m *E  (Mother is in the kitchen preparing cofee) because they
mastered the structure and were familiar with the words given.

Lastly, in item 5, the candidates were required to rearrange the
sentence whose structure was S+ ~+Aux +V+O. These candidates
wrote the correct answer G)(2)(D(3)(@) )+ 1~ 244 &) AL (Xiaohai
does not want to be a driver) because they mastered the sentence
structure. This implies that the candidates had sufficient knowledge
of chinese sentence structures. Extract 8.1 is a sample of the
candidate’s good responses to question 8.

Y H0ISKGIONS)]
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Extract 8.1: A sample of the candidate’s good responses

In Extract 8.1, the candidate rearranged correctly all the items.
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The data analysis further reveals that, a total of 135 (28.54%)
candidates had an average performance as they scored from 4 to 6
marks. These candidates managed to rearrange some items correctly
but failed in others. Most of them wrote correct answers in items 3
and 4. This was due to the fact that they had partial knowledge of
Chinese language structure. Extract 8.2 is a sample of the candidate’s
average performance in question 8.

ATLO6808

200000
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Extract 8.2: A sample of responses of the candidate’s with average
performance

Extract 8.2, indicates the responses of the candidate who was able to
rearrange items 1, 2 and 3 but failed in 4 and 5.

Further data analysis shows that 146 (30.87%) candidates had weak
performance as they scored from 0 to 2 marks. These candidates had
insufficient knowledge about Chinese language Structure. They
failed to rearrange the jumbled words given. Some candidates failed
because they could not understand the meaning of the words given
and others did not understand the requirement of the question as
they copied the questions. This resulted into a guess work by
randomly selecting of words to form ungrammatical sentences. For
example, in item 1, some candidates confused the word which
should precede the other between the word £ (in) and % (have),
but according to the question the word 2 should precede £, thus
they had to write 5 i8] 24 — 244 (Inside the house there is a
cat). Extract 8.3: A sample of the candidate’s weak responses to
question 8.
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Extract 8.3: A sample of the candidate’s weak responses

In Extract 8.3, the candidate failed to rearrange all the sentences.

2.4 Section D: Language Use

The section had three questions, which were question 9, 10 and 11.
Question 9 and 10 carried 5 marks each and question 11 carried 10 marks,
making a total of 20 marks. The candidates were required to answer all the

questions.

2.4.1 Question 9: Matching Items
The question comprised five items in which the candidates were
required to match questions from column A with answers provided in
column B. The question was derived from the topic of
Housing/shopping/Hobby. The question tested the candidate’s ability
to express themselves in Chinese language. The question was as
follows.
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L EEM, F-85fC8E,
[ AR B #
Ni hao! Yididnr yé bl hdokan.
| 1. fkaF! A —BILET #4,
Ni hui bu hul shud hanyd? Bi shi, t shi 150 shi.
12 &K% i R B R, RAZIF,
Ni xiding bu xiing kin T yd xinwen ? Zudtidn.
3. RRERE FAEHM? C *% X,
Td shi yinyuin ba? Di wiinggin,
Nide aihao shi shénme? Shi, 1 shi Zhdngguo rén.
5. e R 42 E &, 2 ¢ 18 A,
Zudtian de didnshi jiémi zénmeying ? Ni hao!
6. XM EHA FA ELH? F 4k#F!
Hui shud yidianr,
G & #—4&L.
B xidng.
H & #,

The question was attempted by 473 (100%) candidates, of whom 288
(60.89%) candidates scored from 8 to 10 marks, which is a good
performance, 134 (28.33%) candidates performed averagely by
scoring from 4 to 6 marks and 51 (10.78%) candidates scored from 0
to 2 marks, which is a weak performance. The general performance
in this question was good, because 422 (89.22%) candidates scored
30% or above of the 10 marks allocated to this question. Figure 9
summarizes the candidates’ performance in question 9.
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Figure 9: The Percentage of the Candidates’ Performance in

Question 9

The data analysis indicates that 288 (60.89%) candidates scored
from 8 to 10 marks, which is a good performance. The candidates
who wrote the correct answers had ability to respond to Chinese
question tags. For example, in item 2 2 & 1~ 43X & ? (can’t you
speak Chinese?) and 3, /&8 4 F4RF #7 H? (Don’t you want to
watch sport news?) the correct answers were & #.— .= J)L (I can
speak little) and 7~#2 (I don’t want) respectively. These candidates
mastered the sentence structure V+~+V.

Similarly, in item 4, the candidates were required to match the
question 42 %% 7 *& (He is an Actor) with correct answer B 1~ 52,
teZ £ )% (No, he is a Teacher). These candidates supplied the
correct answers because they mastered the negation expression 7~ &
(not).

Moreover, in item 5, the candidates were required to match the
question 4% &% % 4F & 4+ 2?2 (What is your hobby?) with 47 M #%
(tennis) which was the correct answer. These candidates got this
item right because they understood the question and mastered the
topic of Hobby. This implies that, they had sufficient knowledge of
expressing themselves by talking about their hobbies.
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Finally, in item 6, the candidates were asked £ X 49 2 4L B & 4
#7? (How was the yesterday’s television programme?) Those who
scored full mark matched it with the correct answer A — &AL 4F &
(was not good at all) because they understood the meaning of the
sentence which ended up with & 2 #% (how). Extract 9.1 is a sample
of the candidate’s good responses to question 9.

7 [ 2 3 4 5 6
r G H B b A

Extract 9.1: A sample of the candidate’s good responses

In Extract 9.1, the candidate correctly matched all the items.

On the other hand, the analysis indicates that 134 (28.33%)
candidates attained an average performance as they scored from 4 to
6 marks. These candidates had partial knowledge of the given
language patterns. These candidates were able to write correct
answers in some items and failed in other items. Extract 9.2 is a
sample of responses from a candidate who performed averagely in
question 9.

J.

A R
e || O| | T

Extract 9.2: A sample of the candidate’s average responses

In Extract 9.2, the candidate matched correctly items 3, 5 and 6 but
failed in items 2 and 4.

Further analysis shows that 51 (10.78%) candidates had weak
performance as they scored from 0 to 2 marks. These candidates did
not master either how to use Chinese question tags or initiating or
ending conversations. They also did not know that in Chinese
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question tags the answers must be one of the questioned main verb
or its negation. For example, in item 2, most of candidates opted H
7~ #4 (don’t want) instead of &%t — &)L (I can speak a little). This
implies that the candidates failed to differentiate between the verbs
4> (can) and #2 (want).

In item 3, the candidates who scored O failed to select the correct
answer 7~ #2 instead they selected A — &)L T 4FA due to the
repetition of the verb & in both column A and B. This proves that
these candidates had poor understanding of the Chinese question tags.

Furthermore, in item 4, the candidate did not understand the meaning
and intention of the speaker in the sentence which resulted to
incorrectly matching of the item. Most of candidates matched it with
E &, #Z+EA (Yes, He is a chinese) because they were
confused by the word A& (yes) which is used in answering the
questions. They also did not understand the meaning of the question
and that of the item E &, 42 % E A (Yes, He is a chinese) which
they matched as the correct answer. This implies they lacked
vocabulary.

Also, in item 5, the candidates who failed this item did not
understand the requirement of the question. They matched randomly
the given answers as one of them wrote H 7~ 22 (don’t want) and the
other wrote C 8 X (yesterday). This proves that the candidates had
insufficient knowledge about the Chinese Language grammatr.

Lastly, in item 6, most of the candidates matched this item with the
wrong response C #E X (yesterday). This was due to the fact that the
candidates were attracted by the word # X because it appeared in
the question. This shows that the candidates failed to grasp the
meaning of the question. Extract 9.3 is a sample of weak responses
to question 9.
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1

Extract 9.3: A sample of the candidate’s weak responses

In Extract 9.3, the candidate wrote incorrect responses in all items.

Question 10: Filling in the Blanks by Using the Given Words

The candidates were given six words, among which one was given
as an example. They were asked to fill in the brackets by writing the
letter of the correct answer. The questions came from the topic of
Weather/Fashion and Entertainment. The question examined the
candidates’ knowledge about vocabulary and grammar use. The

question was as follows.

+. T, P-MERLL .

A &X B¥x CH7 DRE EWbH
Ni jito shénme ?
1. % #42 (F) ?
73ijid 0 jin de jiedao shang sinbi.
2. () A% Mif éhE £ &Y.
Qiatiin shl yi gec bd léng y& bi re de

Xiawid, xuésheng men dou zai xuéxido ciochéng de

4. TH, 42 N B/ EFR B H O
tiingi vou didnr léng, réngyi ginmio.

5. ()RR BNA, BH & K.

Xidohti de hén da, pidoliangji le!
6. v iH ) ( ) IRk, ®#E HT!

3 KE A A F A LT K ().

Chiintian zéodi jijié yénjing nili nai

(

mingzi

F &%

shang xifixi.
I L 3
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The analysis of the candidates’ performance shows that 473 (100%)
candidates attempted the question, of whom 146 (30.87%)
candidates scored from 4 to 5 marks, which is a good performance,
154 (32.56%) candidates performed averagely by scoring from 2 to
3 marks and 173 (36.58%) candidates scored from 0 to 1 mark,
which is a weak performance. The general performance in this
question was good, since 300 (63.42%) candidates scored 30% or
above of the 5 marks allocated to this question. Figure 10
summarizes the candidates’ performance in question 10.

Scores

moo0-1.0
020-3.0
m40-50

Figure 10: The Percentage of the candidate's performance in question 10

The data analysis indicates that 146 (30.87%) candidates scored
from 4 to 5 marks, which is a good performance. These candidates
had sufficient vocabulary which helped them to understand the
meaning of the sentences and words given. They were also aware
about the uses of the words given. In addition, they mastered the
sentence structure which formed the sentences. For example, in item
2, the candidates were tested on the use of the structure S +#&
+Place +V+ Object. They were supposed to choose a missing word
which suits better the sentence. The candidates who scored full mark
chose the correct answer E #3475 (grandmother).
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In item 3, the candidates were required to fill in the blank by using
the word having relation to weather (season). The question provided
had one season #k X (autumn) and its characteristic is ... R4 41
# (not cold and not hot). Therefore, these candidates chose the
correct answer C 237 (season) because it was the only given word
related to £k X (autumn).

Further analysis shows that in item 4, the candidates chose the
correct answer B ¥ 3 (grasses) because they knew that a noun of
place #3%69...(on the playing ground) was to be proceeded by a
noun and that noun had to go together with Lt (on). These
candidates managed to give the correct answer because they realized
that it was the only noun which had relation to the playing ground.

Similarly, in item 5, the candidates who got full mark were
knowledgeable about the word X 4. which had characteristics of
weather & — &)L’ .... This helped them to choose the correct
answer A& X (spring) which related with the concept of weather.

Finally, the candidates who got right item 6 had sufficient
knowledge about the structure S+&9+N+4&k (& Z4 #). This helped
them to write the correct answer D Ak A% (eyes). Extract 10.1 is a
sample of the candidate’ s good response to question 10.

1Gn-F.{02. E. e W e ]
jL
| iog. C. A i
S| R LN R T
| ¢4, B, N [
R DS e
| 05 A, it oo
\
o=
jos. D e e e s [

Extract 10.1: A sample of the candidate’s good responses

Extract 10.1, portrays the performance of a candidate who filled the
brackets with the correct answers in all items.
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Further analysis indicates that 154 (32.56%) candidates scored from
2 to 3 marks because they choose the correct answer in some items
and failed in others. This shows that the candidates were familiar
with some sentence structures while unfamiliar with others. Extract
10.2 is a sample of responses from a candidate who performed
averagely in question 10.

E:

Qa!,u

C
E
B

S A

__6/D _

Extract 10.2: A sample of the candidate’s average responses

In Extract 10.2, the candidate filled in the brackets with correct
responses in items 3, 5 and 6 but failed in items 1 and 2.

Even though the candidates’ general performance in this question
was good, there were 173 (36.58%) candidates with weak
performance as they scored from 0 to 1 mark. These candidates
lacked vocabulary which hindered them from understanding the
requirement of the question. They had insufficient knowledge about
Chinese language sentence structure, meaning and uses of the words
given. This resulted to randomly picking of options and writing
incorrect answers. For example, in item 3, the candidates who
scored 0 did not understand the meaning of the sentence and the uses
of the words given as one of them chose D B&#% (eyes) which was
wrong.

Furthermore, in item 4, the candidates with 0 mark had insufficient
knowledge about a noun of place #:3%#49... (on the playing ground)
that was to be proceeded by a noun and the noun had to go together
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2.4.3

with the preposition = (on). One of the candidates chose E 47347

(grandmother) and the other A& X (spring). This proves that these
candidates did not understand the meaning of the sentence. Extract
10.3 is a sample of weak responses written by one of the candidates.
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Extract 10.3: A sample of the candidate’s weak responses

In Extract 10.3, the candidate failed to fill in the blanks with the
correct answer in all items.

Question 11: Answering the Questions Using Chinese Characters

In this question, the candidates were given five items. They were
required to use the learned vocabulary to provide answers. The
questions was derived from the topics of Introduction and
recommendation, Time and Transport. These questions aimed to
examine the candidates’ ability to express themselves by using
Chinese Language. The question was a follows.

48




. WE A, HIFT A E .
1LY ri: NI jido shénme mingzi?
-k 2] A B F?

‘9’_2' wﬂ i) BEI o
Cong ni jia  dao f@ijichdng yao j1  ge xifoshi?
1. M R F BRI S JUAS BT ?

NI méitiin zénme i xuéxido?

2. I H-K O A K N Ax?

NY qugud xuéxido fijin de tishiguin ma?
3. Ah-Eab A RHiE 69 B B2

NI xiang zud  f€yi  hdishl  zudchudn i Zhonggud?

4, A AR dr AL A sAp H P IE?

NI zhitnbéi shénme shihou xué kflich&?

5. 1 M A bR I 2

— o

A total of 473 (100%) candidates attempted the questions, of whom
68 (14.38%) candidates scored from 7 to 10 marks, which is a good
performance, 99 (20.93%) candidates performed averagely by
scoring from 3 to 6 marks and 306 (64.69%) candidates scored from
0 to 2 marks, which is a weak performance. The general
performance in this question was average, because 167 (35.31%)
candidates scored 30% or above of the 10 marks allocated to this
question. Figure 11 shows the summary of the candidates’
performance in question 11.
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Figure 11: The Percentage of the Candidates’ Performance in
Question 11

The candidates’ response analysis shows that 99 (20.93%)
candidates attained an average performance. This was due to the fact
that, the candidates failed to answer correctly some items by writing
wrong characters, misinterpreting some of the given questions or
violating Chinese language structure rules. For example in item 1,
the question required the candidates to state time taken from point A
to point B Ak (from) place ... | (to) place. Most of the candidates
failed to write a measuring word /4> after indicating the total number
of time, like —A~/ B, A~ BF, most of them wrote —/\B, #
JvBEF which was incorrect. Furthermore, some candidates failed to
write some characters by adding or reducing some strokes. This
implies that the candidates had partial knowledge about Chinese
language grammar. Extract 11.1 is a sample of responses from a
candidate who performed averagely in question 11.
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1A R E AL B — 1 4 BT,

| QK BEJE 30 £ % A%,

AR F FAR T VAR TEE B

tlh AT XML AR L F AKARE PR, ||

s |WAFF T BN BYItE ¥ AE.

Extract 11.1: A sample of candidate’s average responses

In Extract 11.1, the candidate wrote correct answers in items 1 and 3
but failed in items 2, 4 and 5.

The data analysis shows that 306 (64.69%) candidates had a weak
performance as they scored from 0 to 2 marks. The candidates who
scored O failed to answer correctly the question because some of
them did not understand the question. Few of them wrote wrong
characters and others could not write the sentence because they had
insufficient knowledge about the Chinese sentence structure. In
addition, there were candidates who did not follow the instructions
of the question, hence they answered the question using pinyin
instead of characters. For example, in item 2, some candidates
scored O because they did not understand the meaning of the
question & X & Z £ 54? (How do you go to school every day?).
Most of these candidates did not know the uses of the interrogative
word /& 2 %? (how to go). Some of them mentioned the means of
transport instead of writing the way they go to school, for example
one of them wrote & & X & 2 /N £ % 542 (1 every day how
bus school).

Furthermore, in item 3, some candidates failed to get full mark
because they misplaced the pronoun # and 4. They also failed to
show past tense marker iT as the correct answer was supposed to be
#F1E (1 have been there) or &% %iE (I have never been there),
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+1t (been there), % -%iL (never been there). Some candidates
wrote 7~ (not) as negation of never which was wrong. They did not
know that “~ is a negative word used for present tense and future
tenses while & (not) is a negative word used for past tenses. For
example, some candidates wrote & 7~ 2 i3 which was wrong.

Moreover, in item 4, the question required the candidates to choose
one of the two means of transport that were suggested in a question
A A TRALL A A A5 L F B ? (Do you want to take a plane or a
boat to go to China?) The candidate who scored O failed because
they failed to omit the word £ & from the question. This proves that
they did not master the use of the word i & (or) which is used
when asking someone to make a choice but cannot be used when
someone is making a choice.

Finally, in item 5, some of the candidates who scored 0, did not
know the meaning of the interrogative word f+ Z +4% (at what time)
which required them to give the time. Others failed to transform the
pronoun, instead of using #& (1) they used 4% (you). This shows that
the candidates had difficulties in understanding different expressions.
Extract 11.2 is a sample from a candidate with weak performance in
question 11.

1~ AL 2 T B

(I N ]
A B XERA QL F Tx,

27 T AR IR AR ]re] b Ta
Al Fem T 8 JHEE,
B e R AFL AT R F T E.

Extract 11.2: A sample of the candidate’s weak responses

In Extract 11.2, the candidate failed to answer all the five items.

Even though the candidates had weak performance, there were 68
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(14.38%) candidates who had good performance as they scored from
7 to 10 marks. These candidates demonstrated their ability by
answering the questions and writing well-structured sentences using
correct characters. They understood the requirement of the questions.

They also mastered the uses of the interrogative words which
enabled them to write correct answers. In addition, they knew the
meaning of the interrogative words given and managed to answer
the questions using correct structures. For example, in item 1, the
candidates were required to state the time required from their home
to airport in form of hours. They wrote correct answers, as one of
them wrote M & K | KL% & — A~/ 8. This shows that they
mastered the structure (from+ place+ to+ place+ time) and used
correctly the measuring word 4.

Additionally, in item 4, the question required the candidates to
choose one of the two means of transport that were suggested in a
question. The candidate who scored full marks mastered the use of
the word i£ & (or) and 4 (or). These words differ in context that
1L A is used only when asking someone to make a choice (question)
while # is used when someone is accepting the given choice or
making a statement (answer). This implies that the candidates
mastered well the grammar patterns and were able to use them to
express themselves. Extract 11.3 is a sample of the candidate’s good
responses to question 11.

P 4o AF A 3 Y R—
| R ,/fk'u _’”:_"L‘_'_“’ Y _H /‘

Extract 11.3: A sample of the candidate’s good responses

Extract 11.3, the candidate answered correctly all the questions.
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2.5 Section E: Composition

In this section, the candidates were given two questions: 12 and 13.
Question 12 consisted of five jumbled sentences, which the candidates were
required to rearrange into a meaningful paragraph by writing a letter of the
correct answer. Question 13 required the candidates to write composition
titled “A TV programme 1 like to watch”. Each of the two questions carried
10 marks, thus making a total of 20 marks.

2.5.1 Question 12: Re-arranging the Jumbled Sentences to Make a
Meaningful Paragraph

In this question, the candidates were given five jumbled sentences.
They were required to rearrange them into a meaningful paragraph.
Sentence one was given as an example. The question was from the
topic of Color and Size/Hobby which aimed at examining the
candidates’ ability to logically organize ideas. The question was as
follows.

T= ATFT@gFENHMA, AfsaL, 2P—9CBid,
Yinwéi wo kéyl yong shiuji ting yinyué, da dianhua, shangwing.

A BHATUAR For F5, e, 1@,
Sudyl wi yé [Eichang xihuan jinnian de shéngr lwi,

B A KAEEF Sk AF 6 48 L.

Wo hén xihuan shouyinji, méitidn zioshang, wo ting shduyinji I de Xinwén.
C #MR 3R KFR, X FL &% KSFnLeHHAE.
Jinnidn wd gué shéngri de shihou, mima sdng le wo yigé shouji,
D A% &Kt A4 8 &, 848 % TR—4AF,
Biba yé changchdng gén wd yigi  fing xinwén,
E &&8LF T R&RFHE,
Qunian wo shéngri de shihou, baba songle wo yigé shduyinji

F 25 A48 MK, €8 % T &4 &,

The question was attempted by 473 (100%) candidates, of whom 150
(31.71%) candidates scored from 8 to 10 marks, which is a good
performance, 126 (26.64%) candidates performed averagely by
scoring from 4 to 6 marks and 197 (41.65%) candidates scored from
0 to 2 marks, which is a weak performance. The general performance
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in this question was average, because 276 (58.35%) candidates
scored 30% or above of the 10 marks allocated to this question.
Figure 12 summarizes the candidates’ performance in question 12.
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Figure 12: The Percentages of the Candidates’ Performance in
Question 12

The data analysis shows that 126 (26.64%) candidates had average
performance. Most of the candidates who got an average
performance failed in items 5 and 6 because they had insufficient
knowledge about the use of grammatical patterns--- A vA--- The
candidates did not know which sentence between A or B had to
start. Extract 12.1 is a sample of responses from a candidate who
performed averagely in question 12.

+=[1T 2] 3] 4] 5]¢ |
Fic|A|D|B|E |

Extract 12.1: A sample of the candidate’s average responses

In Extract 12.1, the candidate rearranged correctly the jumbled
sentences in items 2 and 4 but failed in items 3, 5 and 6.
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A total of 197 (41.65%) candidates scored from 0 to 2 marks in this
question, showing weak performance. These candidates failed to
differentiate expressions denoting sequence of events. They also
failed to recognize the key information that could help them to
rearrange sentences chronologically. Additionally, they failed to
identify the expressions of time. This indicates that these candidates
had insufficient vocabulary to express themselves by rearranging
their ideas logically. Extract 12.2 is a sample of weak responses
written by one of the candidates.
+= I- ¢ '
e fl
9. P
Pl |
L" b | i

Extract 12.2: A sample of the candidate’s weak responses

In Extract 12.2, the candidate failed to re-arrange all the jumbled
sentences.

Furthermore, the analysis shows that 150 (31.71%) candidates scored
from 8 to 10 marks. These candidates rearranged the jumbled
sentences logically. They also identified the key information showing
sequence of events and had sufficient knowledge about Chinese
structure and grammar, especially in the use of Chinese conjunctions
and time expressions to initiate, join sentences logically and conclude
conversations. This helped them to write correct answers. For
example, they knew that sentence C & &M F L, & RF L&Y
EFHZg#H (1 like a radio very much, every day in the
morning | listen to the local news) was supposed to be the second
sentence because of the occurrence of the phrase #& & &3 4% & L (I
like very much Radio) which is the continuation of information
found in the sentence that was given as an example.

Moreover, analysis indicates that sentence E was the third sentence
because it continues to explain about what the speaker and his farther
do —A2 7 #7H (listen to news together). In addition, they knew that
sentence D was the fourth because they mastered the expression of
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2.5.2

time 4~ (This year) which shows the sequence of events from last
year to this year.

Lastly, the candidates who scored full marks in items A and B had
sufficient knowledge about the use of two grammatical patterns

which were [ 7geeeeeeeeeen Fir VA (because of....therefore....). They
also knew that sentence A was the fifth because it started with the
word [ Ay eeeeeeeeee (because of), and B was the sixth sentence

because it started with the word F#7 VA (therefore....) showing the
logical flow of information which is the result. Extract 12.3 is a
sample of the candidate’s good responses to question 12.

l ) 31 31 Y%!ls |£
FICIE|D|AIB

Extract 12.3: A sample of the candidate’s good responses

e

el

In Extract 12.3, the candidate was able to rearrange all the jumbled
sentences by writing a letter of the corresponding number.

Question 13: Writing Composition

The candidates were given three (3) guiding sentences and five (5)
guiding words. They were required to write a composition of about
70 - 80 words with the given title TR &k 69T B (A TV
programme | like to watch). The question was derived from the
topic of Media. The question aimed to test the candidates’ ability to
give general opinion on news and to identify facts from the Media.
The question was as follows:
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+z. REMBRFARFE—H 0 2 80 FHAL
Huiti - W xihuan de didnshi jiémd
#8. AE%k HEATH
Nixhuan kinnixié didnshi jiémi ?
ik £ BE £ ATA?
Zhé xié jiémit shénme shihou kaishi ?
Z % F8 4 B& Fi7?
Weishéame ni xihuan kin i@ xi€ jiémd ?
A4 hEX A X £ 9A?
Qing xié y1 xié.
# 55,
Tishici: fybjiémd  tidngi ylbdo  badiinbdm  yowyisi  gn..yidl
BFE: KEFE R AR AERF  AEE RK

The question was attempted by 473 (100%) candidates, of whom 32
(6.77%) candidates scored from 7.0 to 10.0 marks, which is a good
performance, 92 (19.45%) candidates performed averagely by
scoring from 3.0 to 6.0 marks and 394 (73.78%) candidates scored
from 0.0 to 2.0 marks, which is a weak performance. The general
performance in this question was weak, since only 124 (26.22%)
candidates scored 30% or above of the 10 marks allocated to this
question. Figure 13 summarizes the candidates’ performance in
question 13.
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Figure 13: The Percentages of the Candidates’ Performance in
Question 13

The data analysis indicates that 394 (73.78%) candidates had weak
performance, as they scored from 0.0 to 2.0 marks. These candidates
had insufficient knowledge about composition writing. Some of
them wrote compositions with less than 40 words, this implies that
they were incapable of writing Chinese characters. Others wrote
incorrect characters either by adding or reducing some strokes
thereby forming incomprehensible words and sentences. Few of
them answered the question by using pinyin instead of characters.
Some candidates copied the guiding questions and wrote them as
answers while others copied characters from the question paper and
wrote them as answers. This reveals that these candidates had
insufficient Chinese vocabulary. Extract 13.1 is a sample of the
candidate’s weak responses to question 13.
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Extract 13.1: A sample of the candidate’s weak responses

In Extract 13.1, the candidate misunderstood the question he/she
expressed his or her hobby instead of expressing his/her favorite TV
programme.

Further data analysis indicates that 92 (19.45%) candidates had an
average performance. These candidates had partial knowledge about
composition writing. They managed to write some sentences
correctly while failing in others. For example, some candidates used
pinyin in words which they did not know their characters. Others
used few guiding words and failed to use other words.

Furthermore, the data shows that only 32 (6.77%) candidates had
good performance as they scored from 7 to 10 marks. These
candidates had enough vocabulary which helped them to write good
compositions. They also arranged logically their ideas and wrote
correct Chinese characters. This implies that they mastered the topic
and had enough vocabulary to express themselves. Extract 13.2 is a
sample of the candidate’s good responses to question 13.
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Extract 13.2: A sample of the candidate’s good responses

Extract 13.2, a sample of the candidate’s responses regarded as good
performance.
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3.0

4.0

PERFORMANCE OF THE CANDIDATES IN EACH TOPIC

The Chinese Language subject Paper contained 13 questions, set from the topics
of Comprehension, Vocabulary Use, Grammar Use, Language Use and
Composition.

The analysis of the candidates’ response shows that the candidates had good and
average performance in the topics tested in 2021. The candidates had good
performance in the topics of Vocabulary Use 79.00%, Grammar Use 72.23%,
Comprehension 70.65%, Language Use 62.65%, but they had average
performance in the skill of Composition 42.28%.

Further analysis shows that even though the performance of 2021 is also good as
compared to the 2020, but only one topic of Vocabulary Use increased by 6.40%
while others decreased as follows; Language Use decreased by 28.05% because
it was affected by the average performance in question 11, Comprehension
19.45%, Composition 15.62% and Grammar Use 2.37%.

Furthermore, the analysis demonstrates that the general performance of topics in
2021 is good, since 65.36% candidates scored 30% or above, even though it has
decrease by 9.64% when compared to that of the 2020. The topics tested had the
general performance of 75.00%. The analysis of the candidates’ performance in
each topic is summarised in Appendices | and I1.

CONCLUSION

The candidates’ response analysis indicates that the performance of the
candidates in the Chinese Language subject in CSEE 2021 was good, since 420
(84.40%) candidates passed the examination and only 53 (11.21%) students
failed.

Further analysis indicates that the most well performed question was question
numbers 7 and question number 13 was weakly performed. Furthermore, the
analysis shows that the candidates who had good performance had sufficient
knowledge about Chinese language grammar. They had an ability to understand
the requirement of the questions and answered correctly. In spite of good
performance, there were candidates who had average performance and others
had weak performance. These candidates had insufficient knowledge about
Chinese language grammar.
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5.0 RECOMMENDATIONS

For better improvement of the candidates’ performance in the Chinese Language
subject, it is recommended that:

5.1 Teachers should guide students to practice on writing Chinese characters
with regard to their strokes and radicals.

5.2 Teachers should guide students on how to write Chinese characters using
the features such as tones, initials and finals, syllable formation and pinyin.

5.3 Teachers should guide student on how to write a logical paragraph or
composition by giving them pictures, cards and simple titles.

5.4 Teachers should encourage students to read more passages in order to
improve their vocabulary and grammatical patterns by giving them simple
texts.
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Summary of Candidates’ Performance per Topic for the Chinese Language Subject in

APPENDIX |

CSEE 2021
% of Candidates % of Candidates
an who Scored an who Scored an
SIN Topic Numl.)er Average of 30 Average of 30 Remarks
Percent or Above | Percent or Above
in each Question in each Topic
1. | Comprehension

Vocabulary
2.

Use
3. | Grammar Use
4. | Language Use
5. | Composition
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APPENDIX 11

Comparison Summary of Students’ Performance per Topic for 2020 and 2021

2021
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2| 42.28

Composition

Good
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Composition
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